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“_ The slope of the curve y* — xy* = 4 at the point where y = 2 is

1 1 1
(A) -2 (B) Py © Y D) 5 (E) 2
“Z, The slope of the curve y* —xy — 3x = 1 at the point (0, -1) is
(A) -~ (B) -2 (C) +1 ® 2 (® -3

~3,_ The equation of the tangent to the curve y = x sin x at the point @.Wu is

(A) y=x-m  B) y=>  (C) y=m-x
(D) .ﬁim E) y==x
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(A)  (4,3) (B) (0,1 © (, +3)
(D)  (4,-3) (E) (2, J5)
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f? The equation of the tangent to the curve x* = 4y at the point on the curve where x =21

(A) x+y-3=0 B) y-1=2x(x+2) (C) x-y+3=0
D) x+y-1=0 (E) x+y+1=0

fm/ The equation of the tangent to the hyperbola x> — y? = 12 at the point (4, 2) on the

curve is
(4) x-2y+6=0  (B) y=2x (C) y=2x—6
(D) y== (E) x+2y=6
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Use the mnﬁ_ shown for Questions 18-24. It shows the velocity of an obj
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e The object attains its maximum speed when ¢ =

@Wo ®m1 ©2 ®3 @® s
(19) The speed of the object is increasing during the time interval

@ ey ® w © 0 @ @y F))
(20,) The acceleration of the object is positive during the time interval

@ ob  ® 12y © 0y ® ey @35

P
ANWM How many times on 0 <1 < 5 is the object’s acceleration undefined?

(A) none @) 1 C) 2 ®» 3 (E) morethan &
QNW During 2 <1 < 3 the object’s acceleration (in ft/sec?) is
(4) -10 ®B) -5 © o M s (E) 10

“\m\.«(

ﬁu.v The object is furthest to the right when 7 =

pa—

(4 0 ®) 1 © 2 D) 3 & 5
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wmm\\w The object’s average acceleration (in fi/sec?) for the interval 0 < r < 3 s
(A} -I5 ®B) -5 ) -3 D) -1 (E)
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